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FETATEE )
EE WU H P SP up
0 315 6 3 2 1.5
315 400 8 4 2 1.5
400 500 9 5 2 1.5
500 630 11 6 25 1.5
630 800 12 7 3 2
800 1000 14 8 4 2
1000 1250 16 10 5 2.5
1250 1600 18 11 6 3
1600 2000 20 13 7 3.5
2000 2500 22 15 8
2500 3000 24 16 9 4.5
3000 3500 25 17 11
3500 4000 26 18 12 6
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= A T RIFIR 0 Y
= EHI R FIFIRE +0.04 004 0,02 001
25 B EHRI T HEEZ (AH) 0.015 0.007 0.005 0.003
RV 0 0 0
30 EEWMRTEFRE +0.04 004 002 001
35 B2 EW, AT BT 1 B2 (AW,) 0.015 0.007 0.005 0.003
ARCEN FSIABITERTE AC (FNF—)
BERDE N FSMBEMITEFITE AD (303 —)
o e 0 0 0
EIELENSES RS +0.05 005 003 002
= EHR T HE EZ (AH) 0.015 0.007 0.005 0.003
45 P, 0 0 0
EEWMRTHEFRE +0.05 005 003 0,02
=5 BEEW, A AT B 2= (AW,) 0.02 0.01 0.007 0.005
ARCENFSHATHITERTE AC (INF—)
BHOE N F SHMBEMITEFITE AD (J1%&—)
- T, 0 0 0
BEHMRTBIFRE +0.07 007 0,05 0,03
B EHR R B 2 (AH) 0.02 0.01 0.007 0.005
. RV 0 0 0
65 EEW,MRTHRIFIRE +0.07 007 0,05 003
& EW, R AT B 2 (AW,) 0.025 0.015 0.01 0.007
ERCEN FSPMATITEFITE AC (305%—)
BRDE N FSYBEAITEFITE AD (303 —)
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BEHN R EZE +0.04 oo
25 & EHA BB B 2 (AH) 0.015 0.007
30 BEEW, MR T RIFIRE +0.04 oo
35 B W, B BN HE B 2ZE (AW,) 0.015 0.007A
BRCEN FSHNABMITERITE AC (INF2—)
BRDE N FSHBEMITEFITE AD (31%k—)
BEHN R EIRZE +0.05 s
B EHEI I A E Z (AH) 0.015 0.007
45 BEW, IR T RIFiIRE +0.05 ons
= B W, BRI HE B 22 (AW,) 0.02 0.01
BRCEY T SMATITETRITE AC (J%E—)
BROE N FSHMBEMITELITE AD (N —)
BEHIG R RiZE £0.07 Py
= EHA BT HE B 2 (AH) 0.02 0.01
G W, IR T RIFIRE +0.07 o
& W, B BN 1R B 2ZE (AW,) 0.025 0.015
BRCEN TSMABNITEFEITE AC (INFR—)
BHDE XY T SHBEMITEFITE AD (#05%—)

B92



